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. Solue arQP\\ICa\\\\j x+d=5 and Lx—rp,d:\o
. Detenming  whethen the Qcyxmﬁﬂons zx_—é—d—2—=0

Solve sayhica\l(j 2X-Y =5 ond  3x 424 =1)

Solve amp\ﬁcol\d 3y =b and 2x-3y =12

Se\lue 3(&Phica\l 21ty -6 =0 and  Yx - 2y-4=0
Solue ﬁvaPhicold Xty =y and 2Aty =3

Solua 8'“?““‘)8 2X+y-5=0 and 3x-34-Y4=0

. Solue arq‘)\mca\&j zx+sdzl| and 23 -4y + 244 =0

Solua S(QP‘\]CQ“J & q‘d =lo and 2x- ld =5

- Solue amp\\ica\u 3xtluyte=o and 3-y-9=0
- Solue amP\nica\\d DL-HS& =13 and L\x-rsdzls

and qx—qd -5=0

e consistent or inconsistent b drawiva the ﬁraphs-

Dvaw the 8ra?\ns oj» the ions XY+ 1=0 and 3 F2y—la=c
Detoimine the coordinales 05» the verkices of the 'hto.a\e
_}omq_d \od these lines and the X -oxis, and shade the
riangulon — segion:

. Solue 8\@?\\'\@\ 2x42y=8 , 2X-3Y=|

So\ue arqp\n’\ l\j -y +3=9, 31—5:3-\4:0

So\ue ara.‘bh'\ca\éj 3x-Y =% ond 2x+SYyt1=o

Solue ava):k\ca\\d pLeg =0 and A yafsia e

Solue araPh\'ca\lxj 21-\-5 =6 CL\'\d 3 =2X+t2

Solue ro.?‘\'\ccv\\d 2x-4-5=0 and S

B‘(} the amp\mca\ method, -J[iné\ whather the 3—0“00“8 o{»
o oM consistent O nob 3 +Y-5=0, 2X-y-5=0. !

consiskent, :g—ind i <olution '][\mm Yhe geaph

. Solue amphica\k\j 2%-3Y =\, Ux-3Y+\=0

Solwe arquzcohd 2% ~Y-220, Y4x-y4-4=0



O OO0V O GG G I PIIEEY O EEIYYG e OGO EYEse

i § DMark:
\) The 3o_nara\ go‘(m o} linean quko.!tion in  two Vamiables vs

2) Qx]fe a  lincan Q%Qﬁon in two vaniakles such that the
Senua\ WP\GSkaO:}ion 0} the pair - So &rmad 15 Pcma\\o_\ 1o

2N - 3&-&5:0
-’>> Q\I*\o\tjﬁ—c,:o cmd QL‘L'\’bAdfCL:O axe )L‘\na Pair ?P L~E., 'H'\Qn W\c&ch
the —S—o\low‘ma.

OL) %—: b - O L) In‘cersu‘dra lines

2 b), Co

b) %\L#EL i) Povallel Vines

2-

o Lo BN .‘3—'- il i COKn(_‘dQn% \(hQ-S

q) The amph o:& \inaon m{m{'mns m Ywo vaxiables ro.presen\s a

-

5) Ex.Pst& Yhe a(uoxx s'\\:ua?ﬁon Ny (EL \MQOJI eqvu.ahon U_rt\e cosk oQL
5 pencils and ¥ pens '\-oaa.‘rhu s T 50

¢) The pain o} equakions y=2 and Y=-3 has R
1) Find the point of Totexsedtion o} the lines x=2 and y=3?

8)1)(‘)\%\& wha’ ‘?v Sw -3 :\\m omé \01——;& =22 ane Consistent or
om0 Sty oo
Q) The onea ot *““’8\“ foxened E&j the \ines 4=, x=6 and y=o
LR =
m) “The wnea 0} %ricma\o_ -}otma,d Bd Yhe Imes lzs’é‘]:q and x_:d .
\D'T\\e. Sum o‘{— Yhe digits O-S» a two digt numben is q. ;q, B s
added B %, the %E o{— the numbaen aq}r vevoued The number

65 —
12) Dvow (oua\n Laqrams ro,?ra.se_n‘r'md ) '\n’cexso.cf\vxa s -
. ) Pmo.\\t\ A\ e 16 Comaidant  \Tney
13) ) Point On  positive X -axis
';ﬁ) Point on Pos'v\:iuc_ V-axis is

':i) Po‘m\: on na.é:]o&"tw. Ni—a 15—

iu) Point on Maqh’ue y-axa s




